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&5 X 4 B | Finh oD EREE ADKRES X 4 TEMNSDKE| H& ADKRES X 4 B | LiImhonks ADKRES R 4 rmhosotkE | B ADKRES
(m) (m) (kN/m) EE &ff (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
1 100kN/m#%#8 % % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/MiZ# 8% % — - ~ — —[3mZEBZ 2 -~ — — —
zh st 1001000 ~ 709 90.02 | =0 | 000 ~ 000|170 9.08 Zzh s 1.00 | 5.00 ~ 9.00 90.02 | =0 | 5,00 ~ 9.00)|1.70 9.08
2 100kN/m##z25| 1.00)| 000 ~ 0.13 101.93 |3m&xEZB| — ~ — — — [ 100kN/m#%#Z25 | 1.00 | 10.73 ~ 1110| 101.93 |3mZEEZS -~ — — —
zh sk 100013 ~ 792 100.00 | This | 000 ~ 792|209 11.20 zh st 100|500 ~ 1073 100.00 | =hs | 500 ~ 1110| 2.09 11.20
3 100kN/m#%#BZ%| 100|000 ~ 135 12050 |3mEBZZ| — ~ — — — | 100kN/mZ#BZ25 | 1.00 | 1063 ~ 1530 120.50 |3mEBZ3 -~ — — —
zh st 100|135 ~ 914 100.00 | #nds | 000 ~ 914 | 2.30 12.32 zh st 1.00 | 5.00 ~ 1063 100.00 | =S | 6.00 ~ 1530 | 2.30 12.32
4 100kN/m##z25| 1.00)| 000 ~ 168 125.67 |3m&xEZB| — ~ — — — | 100kN/mZ#BZ25 | 1.00 | 1053 ~ 1640 125.67 |3mEBZ5 -~ — — —
zh sk 100|168 ~ 946 100.00 | ThUs | 000 ~ 946|237 12.66 zh st 100|500 ~ 1053 100.00| ThS | 500 ~ 1640|237 12.66
5 100kN/m# x5 | 1.00)| 000 ~ 138 120.90 |3m%&EEZB| — ~ — — — | 100kN/m%Z#BZ25 | 1.00 | 1054 ~ 1510 120.90 |3mE#BZ% -~ — — —
ThLlst 100|138 ~ 916 100.00 | This | 000 ~ 916|235 12.58 ThLlst 100|500 ~ 1054 100.00 | Zhs | 500 ~ 1510|2.35 12.58
6 100kN/m#%#BZ%| 100|000 ~ 215| 13334 |3ImZEBZZ| — ~ — — — | 100kN/mZ#BZ25 | 1.00 | 1054 ~ 1910 133.34 |3mE#BZ3 -~ — — —
zh sk 100|215 ~ 993 100.00 | #nds | 000 ~ 993 | 2.36 12.61 zh s 1.00 | 5.00 ~ 1054 100.00 | =ndS | 6.00 ~ 1910 2.36 12.61
7 100kN/m#%#BZ2%| 100|000 ~ 102| 11536 |3mZEBZZ| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 10.70 ~ 1407| 11536 |3mZEHBZ3 -~ — — —
ThLlst 100|102 ~ 881 100.00 | Fhidst | 000 ~ 881|210 11.24 zh st 100|500 ~ 1070 100.00 | Zhs | 500 ~ 1407|2.10 11.24
g 100kN/m##z25| 1.00)| 000 ~ 173 126.48 |3m&xEZDH| — ~ — — — | 100kN/m%EHBZB| 1.00 | 1053 ~ 1658 126.48 |3mEHBZ3 -~ — — —
ThLlst 100|173 ~ 951 100.00 | Fhist | 000 ~ 951|238 12.75 ThLlst 100|500 ~ 1053 100.00 | =hst | 500 ~ 1658| 2.58 12.75
9 100kN/m##Z25| 1.00| 000 ~ 304 148.43 |3mERBZB| 0.00 ~ 024|513 16.77 | 100kN/m%ZE#BZ5 | 1.00 | 1060 ~ 2592 14843 |3mZE#BZB| 2500 ~ 2592 | 3.13 16.77
zh sk 100|304 ~ 1083 100.00 | Thst | 024 ~ 1083 3.00 16.05 zh st 100|500 ~ 1060 100.00 | Z=hs | 500 ~ 2500| 3.00 16.05
10 100kN/m##25| 1.00| 000 ~ 311 149.65 |3mERBZ B[ 0.00 ~ 036 | 3.21 17.18 | 100kN/mi%#82 5| 1.00 | 1078 ~ 2660 149.65 |3mE#BZRB| 2500 ~ 2660 3.21 17.18
zh sk 100|311 ~ 1090]| 100.00 | Thids | 036 ~ 1090| 3.00 16.05 zh st 100|500 ~ 1078 100.00 | =hs | 500 ~ 2500| 3.00 16.05
11 100kN/m##z25| 1.00)| 000 ~ 308 149.13 |3m%ERBZB| 000 ~ 0.12]|3.07 16.41 | 100kN/i%#825 | 1.00 | 1053 ~ 2721 149.13 |3mEBZB| 2500 ~ 2721 3.07 16.41
zh sk 100|308 ~ 1087 100.00 | Ths5 | 012 ~ 1087 3.00 16.05 zh st 100|500 ~ 1053 100.00 | =hs | 500 ~ 2500| 3.00 16.05
12 100kN/m#%#BZ%| 100|000 ~ 292 14634 |3mEBZB| — ~ — — — | 100kN/m%EHBZB| 1.00 | 1057 ~ 2472 ]146.34 |3mZEHEBZ3 -~ — — —
zh sk 100292 ~ 17| 100.00 | Ths | 0oo ~ w7277 14.80 zh st 100|500 ~ 1057 100.00| ThS | 500 ~ 2472|277 14.80
13 100kN/m# x5 | 1.00)| 000 ~ 328 1562.63 |3mERBZRB| 0.00 ~ 042|325 17.39 | 100kN/m%ZE#BZ5 | 1.00 | 1090 ~ 2893 15263 |3mZE#BZB| 2500 ~ 2893 | 3.25 17.39
zh sk 100|328 ~ 107 100.00 | Thidst | 042 ~ 1107 3.00 16.05 ThLlst 100|500 ~ 109 | 100.00 | =hs | 500 ~ 2500| 3.00 16.05
100kN/m#%#8% % ~ ImEHBZD ~ 100kN/m#%#8 % % ~ ImEHEZDL ~
zh sk ~ Zzh st ~ zh sk ~ Zzh st ~
100kN/m%#8 % % ~ ImEHBZD ~ 100kN/m#%#8Z % ~ ImEHEZD ~
ZhLst ~ Zh s ~ ZhLst ~ Zh s ~
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